N ACCESS MATHS

- _ Simplify Simplify: Simplify: Simplify: Simplify: Simplify: Simplify: Simplify: Simplify:
gm A+ 3+ 6+ Ty 32+ 4b + 52- 6b 9a- 4b - 8a + 6b ¥+y+y 2b? + 2b* + 2b* 3ab + 5ab - 2ab yxyxy? 2% x 3y° (2y%)?
Expand: Expand: Expand: Expand: Expand: Expand: Expand: Expand: Expand:
m 4(2x + 5) 3(4p-5) 4(5 - 10p) 3x(2x-5) 4m(2-5m) 4(2x+5) + 2(3x +1) | 3(2x+3) + 2(4x - 3) 4(5x+5) - 3(2x + 4) 5(3x+4) - 4(2x - 3)
Expand: Expand: Expand: Expand: Expand: Expand: Expand: Expand: Expand:
W (x+3)(x+4) (x+9)(x-2) (x-3)(x+7) (x-4)(x-6) (2x+3)(x+4) (2x+3) (x-5) (3x-4) (x-2) (3x+2)(2x-4) (3x-4)(3x-5)
Factorise: Factorise: Factorise fully: Factorise fully: Factorise fully: Factorise fully: Factorise fully: Factorise fully: Factorise fully:
mg X + 12 10—35m 24p + 8 ax + 126 bm? - 15m 10x* — 15xy 14xy + 35y 18xy - 30xy 6ah - 15ab? + 9a
Factorise: Factorise: Factorise: Factorise: Factorise Factorise: Factorise: Factorise: Factorise:
WSE X +10x + 2 X +9x + 20 x*—ix + 30 Xt —6x + 9 x*-81 x*-100 X +2x- 24 x> —5x - 36 x“-x-56
Solve: Solve: Solve: Solve: Solve: Solve: Solve: Solve: Solve:
m 4 =10 « 1 6x+3=27 5x-4=5 4x + 3> 31 n+3<14 9x-1=5x + 1 3x+5=>5¢-8 6x+2=4x+7
- 5= 12
Solve: Solve: Solve: Solve: Solve: Solve: Solve: Solve: Solve:
m K+5x+6=0 ¥+7x+6=0 ¥-5x+6=0 x*-9x+20=0 x-25=0 x*-1=0 x*-5x-14=0 x*-x-30=0 x*+2x-63=0
Work out the value of: Work out the value of: Work out the value of: Work out the value of: | Does the coordinate (3,5) | Complete a table of values | Complete a table of values |  Work out the value of: Work out the value of:
g: W 3x + 5 when x=4 4x - 3 when x=5 x* when x=3 2x* when x=6 lie on the ine for when x =-2,-1,0,1,2 | for when x =1,2,3,4,5,6 2 + 9 when x=3 2¢* - 5 when x=5
. 3
y=2-1 y=2%+5 y==
X
Write the value of: Simplify: Simplify: Simplify: Simplify: Simplify: Write the reciprocal of: Simplify: Simplify:
W@ 4 x x* X x° x? x x° 3a° x 4x® 5x° x 4x” 7 5 3
x? x3 x? 2x3 10x11
P =3y p=23+1 p=12-13 Make p the subject Make p the subject Make p the subject Make p the subject Make p the subject Make p the subject
: . . . _P _P_ p—4
W Make y the subject Make y the subject Make y the subject y=4+ 9 Y= 3 v=F= y= ﬁ +m v=Jp -5 y= Jpﬂ;m
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